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Regarding stealing, where ox or sheep is written, so that you cannot
produce a mixed breed from those two

Overview

The X3 explained that the word X' by 'm '7 payment includes X573, since we
cannot breed a 7w MW (so we would assume that there is no 2°X%2 by "M '7), therefore
the "' teaches us to include 0°X?>. Our Moo explains why we cannot derive it in
another way.

n1voIN asks:
= 19595139 1893 %1 999 Y51 INDA 9NN ON)

And if you will say; without this proof (of 1217213 °23) we can a also give a reason

why the word "W&' here is 0°X%2 7271, for -
= 992499 IN NN 2N2979 OINYS VYN NY N7 NaI) 2a)

Regarding 12713, where the word '@’ is written to exclude 29892, as X231 teaches,
therefore we can say that the word "IX' comes to include 2°8%> —

N1DO0IN answers:
£ 293 29N5 NN AN TINY NV 29N97 N NIN 995N N9 X297 NNYNT 999 v

And one can say that the 2X 7112 of 21 is only applicable where it mentions 7w

exclusively, however here it also states 912, so the a8 112 of X271 does not apply, and we
need the s'X773 answer.

Summary
The 2R 112 excludes 2’95 by nw exclusively, but not when it is mentioned with

another animal

Thinking it over
nooIN is seemingly contradicting our &3, which state that there cannot be 2°X%3 by
"M '7 (where it says 7w WX W) on account of the X"2 of X271

' We do net require the distinction which the X3 makes, for we have another way to resolve the apparent
contradiction.

2 X217 just taught that 2’757 DR X7 KIR 1K 7@ AR 21pH 73 AR 713 77, Thereby by 'm 7, where 7w is written to
exclude o°X?3, the W comes to include it, however by 11 2aw> where there is no exclusion (since it does not say nw), so
we would have included o°X%2, therefore the word X there excludes o°R93.

3 See 11 X"wAn and TMONT WD XK.
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